Long division practice

759 + 11 =

Step 1: Write down the multiples of the number you are dividing by up to 10X

11 22 33 44 55 66 77 88 99 110

Step 2: Use the multiples to complete using the bus stop method.

0 6 9
11 7 79 99

Make sure you also watch the video on the blog to help you.

Task: Complete each of these questions using the bus stop method.

MAKE SURE YOU SHOW YOUR METHOD FOR EACH QUESTION.

None of the questions have a remainder at the end, so if you do get one, something has gone wrong.

Check that your multiples are correct.

1.3509 + 11 = 6. 6576 + 16 =
2.4173 + 13 = 7.8359 + 13 =
3. 6734 =14 = 8.7161 + 11 =
L. 7956 + 12 = 9.5808 +12 =

5. 8070 + 15

10. 7882 + 14 =



ANSWERS!
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